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RBF #8122 W] 2&

B E 2 M 2% (radial basis function
neural network, RBFNN)
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SR (Gaussian Function)

exp(‘_H 1=12,...,h

£ — KRB (Mli‘fthuadratlc Function)

¢ (x)=(|x- c|| +o%) i=12,....h
« i “YRER%L (Reciprocal Multiquadratic
Function)

1,2,...,h

4 () =|x—c| log(|x—c/|) i
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* newrb

[net,tr]l=newrb(P,T,goal,spread,MN,DF) %37 — M2 [\ FERBF 14 b 2%
Z =P QA S\ M) & H A R*QAEH R

T Q4 H ) = 4H B S*QE HFE %

goal AtrE, Ka¥JTREHR, %4 N0.0.

spreadti N, FKonfemzER BT S, RImE R, 4 N1.0,
MN 5 E M & e m KB H , 51 9Q.
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RBFNN ) Matlab=z )

clear all

clc

x=0:0.1:5;
y=sqrt(x);
net=newrb(x,y);
t=sim(net,x);
plot(x,y-t,'+-")
figure
x1=5:0.1:9;
y1l=sqgrt(x1);
t1=sim(net,x1);
plot(x1,y1-t1,™*-"
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